JL_

Multiplikationsibungen (11-er) Name:
L 0se jede Aufgabe.
6+11= 9e11= ge11= 4¢11=
711= 3e11= le11= 2¢11=
1011 = 5¢11= 1e11= 411=_
1011 = 3e11= 711=_ 211=_
6e11=_ 8el1ll= 9e11=_ 5¢11=
9e11= 7+11= 4011= 8e11=
5e1l= 1e11= 6e11= 10+ 11=
2¢11=_ 3e11= 9e11= 5e1l=
2¢11=_ 10+11= 611=_ 7e11=_
4¢11= 3e11=_ 1e11= ge11=
611=_ 10+ 11= 3+11=_ 7e11=_
5e11= ge11= 2¢11= 9e11=
411= 1e11= 11.8= 11«3=_
111= 114=_ 11+10= 11.9=_
11e7=_ 11«6=_ 11«5= 11e2=
11«6=_ 11«5= 11e2=_ 11.8=_
11«3=_ 11.9=_ 11e7=_ 111=
11+4= 11+10= 11+5= 117=_
11+3= 11.8= 112= 114=
11+10= 11+6=_ 11e1=_ 11.9=
11+4= 111= 11.6= 11.2=
11+3= 11.8= 11+5= 11+10=
11.9= 11.7= 11+6= 11.8=
11e7= 11«4= 11+10= 112=
11«5= 11.3=_ 11.1= 11.9=
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Multiplikationsiibungen (11-er) Name: L Osungsschlissel
L 0se jede Aufgabe.
611= 66 9¢11= 99 8+11= 88 4011= 44
711= 77 3e11= 33 1-11= 11 211= 22
10-11= 110 5¢11= 55 1-11= 11 4e11= 44
10-11= 110 3e11= 33 711= 77 211= 22
6¢11= 66 8+11= 88 9¢11= 99 5¢11= 55
9«11= 99 T11= 77 411= 44 8e11= 88
S5¢11= 55 1-11= 11 6el1ll= 66 10-11= 110
211= 22 3e11= 33 911= 99 S5e11= 55
2¢11= 22 10« 11= 110 6¢11= 66 7T11= 77
4e11= 44 3e11= 33 1-11= 11 8¢11= 88
6¢11= 66 10«11 = 110 3¢11= 33 T11= 77
S5¢11= 55 8e11= 88 211= 22 9¢11= 99
4.11= 44 1-11= 11 11.8= 88 11«3= 33
11-1= 11 11-4= 44 11-10= 110 11.9= 99
11e7= 77 11.6= 66 11«5= 55 11.2= 22
11«6= 66 11«5= 55 11.2= 22 11.8= 88
11«3= 33 11.9= 99 11e7= 77 11.1= 11
11-4= 44 11-10= 110 11-5= 55 11e7= 77
11«3= 33 11-8= 88 11.2= 22 11-4= 44
11«10= 110 11«6= 66 11-1= 11 11«9= 99
114= 44 11-1= 11 11«6= 66 11e2= 22
11«3= 33 11.8= 88 11«5= 55 11.10= 110
11«9= 99 11e7= 77 11«6= 66 11.8= 88
11e7= 77 11-4=_ 4 11-10= 110 11.2= 22
11«5= 55 11«3= 33 11-1= 11 11.9= 99
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